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C2HYAUSHSEE 169,923 181,228 A 11,305
ERHEFAAY 169,923 171,228 A 1,305
101 @124 dl 6,363 6,268 95
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 JI2ZtH 22 XNHEE =+ 6,363 6,268 95
O2INFAEBANAEY JIx=XE &HH| 6,363
—-Jl2= 69,7603 *1H 80 5,581
—B28a 5,580,800& 1 x14% 782
201 LEt2AY| 21,760 21,760 0
01 AFR2t2l bl 11,320 11,320 0
OEz¥HFA 222 H & 6,560
—EBZ8 HMH 2,000& *2,500H 5,000
— 39 60,0003 *13H A 23] 1,560
OEZYHFAHEHS T HIEE SEME 2,000
— '~2 '3 (450%350) 1,500& *1,0000H 1,500
— '~2'2(330%240) 500& =1, 0000H 500
OS2YF2995 B4 49
70,000& x6H x23] 840
OE2HFAAE 24| 8,000& »3H x80 1,920
02 332494l 10,440 10,440 0
OdioleE 212 sal&g 40,000 *3CHx12& 1,440
OE2YHFA (M NS HISAIAE)HHNE S
RS 9,000
— =3 89,018, 98, 45 X2, 09 A,
A A 1,000,000& 904 A 9,000
202 (4] 4,800 4,800 0
01 2L Y] 4,800 4,800 0
OE2HFAAY SEEXZ AL 20,0003 *3H *80! 4,800
206 M= Hl 1,000 1,000 0
01 X2t 1,000 1,000 0
OHgHso 2= IHah| 10,000& 1004 1,000
401 Al HIL 200 113,000 114,400 A 1,400
01 Al &bl 113,000 114,400 A 1,400
Oxzdo 204.&X 500,000& =554 27,500
OdsHso 204.&X 10, 000& *500H 5,000
OEZHFEA CHUHAIAE SRANES 9
11,000& %2, 1004 23,100
OHEHS T Max=XZ AL A 1,400&*11,000H 15,400
Ofz=s ASHSE Hb| 10,000& *3, 2004 32,000
Oaal 3& HWAIE THEX 500,000 *20H 10,000
403 IR SHHSA201 A 23,000 23,000 0
02 3IJ2SH St 2 2 AL B 23,000 23,000 0
OZ2INFTAHBAAH(KAIS) RAE= 18,000
—GIS A S/W RXE = 3,000,000 3,000
—KAIS 289X & 15,000,000& 15,000
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M SEXHQ EX Sg2e
€ T2HAASHHSES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OERE=ADI2E ALY 5,000
—E2gFA0E2r st 5,000,000& 5,000
HE2HZH (2R SAD) 124,962 77,790 47,172
Jl23&dl 124,962 77,790 47,172
Jl2ztl 124,962 77,790 47,172
201 Let2d] 66,162 41,790 24,372
01 At 22l 66,162 41,790 24,372
ORNEA 1,831,000& 30 54,930
o=l 6,000
— E20aldl 8,000 30 25 6,000
O=SADIL Xt 5,232
—Z =AM 286,000 x1CH+128 3,432
— SHEAD] 150,000 x1CH 123 1,800
202 Od4dl 54,000 32,400 21,600
01 = LH o4 Hi 54,000 32,400 21,600
O2L o dl 100,000& 30 » 122 36,000
O&2 o dl 75,0003 x30H «8 18,000
203 YR =&l 4,800 3,600 1,200
04 FN2ELRZ=TH 4,800 3,600 1,200
ORN2IYSF=AHI 400,000& x12& 4,800
NS (S A 192,104 0 192,104
HEHHK = 192,104 0 192,104
LHEHeH X = 192,104 0 192,104
701 JIEtSI HSEES 192,104 0 192,104
01 JIEteI HE == 192,104 0 192,104
Of=FAY SHa) HES
192,104,000& 192,104




